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Q.1. The length of rectangular field is 60m and breadth is 50m. A girl wants
to fence the field. The cost of fencing the field is Rs. 108 per metre. Find

the total cost of fencing the field. (1x5=5)
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Q.2. Find the area of the shaded part of the given shape. (1x5=5)
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¥ Answer the following questions:
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Q.1. The length of rectangular field is 60m and breadth is S0m. A girl wants

to fence the field. The cost of fencing the field is Rs. 108 per metre. Find
the total cost of fencing the field. (1x5=5)
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Q.2. Find the area of the shaded part of the given shape. (1x5=5)
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Q.1. The length of rectangular field is 60m and breadth is S0m. A girl wants

to fence the field. The cost of fencing the field is Rs. 108 per metre. Find
the total cost of fencing the field. (1x5=5)
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Q.2. Find the area of the shaded part of the given shape. (1x5=5)
YA IR AN 1

W Answer the following questions:

8cm

] 15em
8cm

| Time: 10 Minutes Paper Math 6 (T-1) |

| 4th Month, 1st Week, 4th Day |

Total Marks: 10 |
Exercise 8.1 Q # (9, 10) |

B 2NT IS I 41
Q.1. The length of rectangular field is 60m and breadth is S0m. A girl wants

to fence the field. The cost of fencing the field is Rs. 108 per metre. Find
the total cost of fencing the field. (1x5=5)
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Q.2. Find the area of the shaded part of the given shape. (1x5=5)
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